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OGUZ ATAY PUZZLE CONTEST

All puzzle friends!

As you know puzzlers from all over the world are getting together twice a year in different countries decided by
WPF. This year Turkey is hosting the 18th WPC in Antalya.

Counting down to the 18th WPC, we have decided to hold online competitions every month, as a preparation &
practice for the event. Until October, we will organise an online contest at the third Saturday of every month.
This set of competitions will help puzzlers get familiar with the Turkish puzzles, the types some of which may be
used in the WPC.

We named this competition set “Oguz Atay Puzzle Contest”, having the name of one of the best Turkish writers,
who passed away early as most of the bests.

The contest is made up of 10+1 puzzle types, four puzzles of each type plus an optimizer. The duration for the
contest is 150 minutes. Do not be discouraged with the amount of 41 puzzles, the more of each puzzle helps to
solve every next better. Four puzzles of ten types are more useful for solving than many different types!

The + sign used in separating puzzles and the puzzle scores is the symbol of OAPC.
For any questions about OAPC, view forum: http://www.wpc2009.org/forum/

Serkan Yirekli & Gulce Ozkitik
oapc@wpc2009.org
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1-4. Previously On OAPC

1-2: Snail Sudoku: Fill the grid with digits 1~4, so that each digit appears exactly once in every row, column
and every 3x3 spiral. Digits should be placed orderly in the spirals, from the entrance to the center. The
numbers outside the grid indicate the first seen number from that direction.

3-4: Diagramless Kakuro: Place the digits 1-n (1-7 for the example) and some black squares into the grid to
form a valid kakuro puzzle. The black squares in the grid have 180-degree rotational symmetry, all white
squares are connected, and all digits belong to a sum of two or more numbers in both directions. Clues

given next to the grid indicate the sums that are formed in the grid. For the row clues, this means all clues

in the first row (from left to right) are listed before clues in the second row, and so on. For the column clues,
all sums that have their uppermost cell in the first row (from left to right) are listed before clues that have their
uppermost cell in the second row, and so on.
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2 ! 2 ! Across: 8,6,7,21,7,7,10,11,8,12,15,9,16,4

7,10
Down: 3,28,9,9,28,4,8,8,9,14,11,10
Answer format:

Write the content of the marked row/column. Use 0 for empty/blackened cells. 1-2: The answer for the
example would be: 043000102 3-4:The answer for the example would be: 1620473

5-8. Rehber

Locate all the given words in the grid, reading either from left to right or from top to bottom.
There may be some empty cells between the letters. There cannot exist any word which is not
on the list. Clues inside the diagram indicate the first visible letter in the corresponding direction.
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Answer format: For each row, write the column numbers of empty cells. Ignore cells with clues
and use 0 if there is no empty cell in that row. The answer for the example would be: 0,4,3,12,16,2

9-12. Consecutive Loop

Fill the grid with digits 1-9 so that no digit is repeated within a row/column. Each pair of consecutive
neighbours should have a line between them, forming a closed loop. All lines should be part of the
loop. There cannot be any loop lines in the crossed places, and some lines are already given.
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Answer format: For each row, write the even digits outside the loop. Use 0 for the rows without even
digits. The answer for the example would be: 24,0,0,42,68,4682




13-16. Tapa Variations

Paint some squares black to create a continuous wall. Number/s in a square indicate the length of
black cell blocks on its neighbouring cells. If there is more than one number in a square, there
must be at least one white cell between the black cell blocks. Painted cells cannot form a 2x2
square or larger.

13-14: Knapp Daneben Tapa: All given numbers are wrong. The correct number is either 1 higher or 1 lower.
A 1 can also be 0 in reality, but a 0 cannot become a 1.

15-16: Tapa Pentopool: All unpainted cells should form given different pentominoes. The pentominoes may
be rotated and/or mirrored, and cannot touch each other from the sides. There are no wall or pentomino

segments on cells containing numbers.
L,L,PV,Z *
1 2,
33 13

Answer format: Write the content of the marked row/column. Use 1 for blackened cells. Use 0
for empty cells and C for clue cells. 13-14: The answer for the example would be: 1110C
15-16: Use the corresponding letters for the pentominoes. The answer for the example would be: 1111V1PP

17-20. Abacus Snake

Locate a snake in the grid that is 45 cells long (30 for the example) and doesn’t touch itself. The

1st, 15th and 45th (1st, 10th and 30th for the example) cells of the snake are given. Numbers outside
the grid indicate the amount of snake segments in the corresponding directions.
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Answer format: Write the content of the marked row, separated by commas. Use 0 for empty cells.
The answer for the example would be: 0,0,8,0,20,0,30,0,27

21-24. Tapa Distiller

Paint some squares black to create a continuous wall. Number/s in a square indicate the length of
black cell blocks on its neighbouring cells. If there is more than one number in a square, there
must be at least one white cell between the black cell blocks. Painted cells cannot form a 2x2
square or larger.

Clues of four puzzles are given in one grid. Distribute the clues to four grids and solve each
puzzle. The cells with clues do not overlap, each clue cell should be fully visible in one grid only.
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Answer format: Write the content of the marked row/column. Use 1 for blackened cells. Use 0
for empty cells and C for clue cells. The answer for the first grid of the example would be: 1011C



25-28. Skyscraper Blocks

Place digits 1-6 into the grid so that no digit is repeated within a row/column.The digits outside the
grid indicate the number of buildings that can be seen from the corresponding direction.

The buildings form two-digit numbers and the relations between some numbers are shown

with a greater/less sign.
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Answer format: Write the content of the marked row/column. The answer for the example would
be: 465123

29-32. Masyu-Rundwe

Draw a loop into the diagram following the gridlines, which does not touch or cross itself. A digit in
a cell indicate the amount of its edges used by the loop.

The circles in the diagram follow the Masyu-rules: The path must turn at every black circle, but
cannot turn immediately before or after. And the path can not turn at any white circle, but must turn
immediately before and/or after.
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Answer format: Write the sizes of areas outside the loop larger than 1, in increasing order. The
answer for the example would be: 2467

33-36. Sumbox

Fiil in the grid with digits 1-4/1-5 (1-4 for the example) and blacken some cells so that there are
exactly two digits and two blackened cells in every outlined 2x2 area. No digit can be repeated within
a row/column. Numbers outside the grid indicate the total of numbers that can be read in the
corresponding direction. Numbers are read either from left to right or from top to bottom.
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Answer format: Write the content of the marked row/column. Use O for blackened cells. The answer
for the example would be: 003041



37-40. Pentoroll

Given figures are built from 5 unit cubes (in view from the top they give standard pentomino set). The
figures were placed into the grid without mirroring (rotation is allowed). Figures cannot touch each
other even at a corner. Then each figure was rolled over one edge. A top view after rolling is given.
Find the initial figure’s locations.
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Answer format: Write the content of the marked row/column. Use 1 for black cells, O for white cells
and the corresponding letters for the pentominoes. The answer for the example would be: 0YO01N

41. Looptimizer

Fill the grid with digits 1-9 so that no digit is repeated within a row/column. Each pair of consecutive
neighbours should have a line between them, forming a closed loop. All lines should be part of the
loop.Some cells may be blackened if you cannot place any number following the rule above. This
cells may have loop lines if necessary.

Maximize the amount of corners in the loop, using minimum amount of blackened cells.

Scoring:
(amount of corners / 3) - (amount of blackened cells x 0.7)

Scoring for the example:

(24 /3)-(3x0.7) = 5.9 points 8 5 211
6|7]8 3
8 6 8 5|4
7 3/ 5|16 8
312|179

Answer format: Write the content of every row, from left to right, top to bottom. Use 0 for the
blackened cells. The answer for the example would be: 856210,06783,60854,73568,32179

Some puzzle ideas are obtained as follows:

Diagramless Kakuro from Thomas Snyder

Knapp Daneben Tapa from Florian Kirch (Réatsel Portal LM Deutschland).
Abacus Snake from ZeKa 2007 (Croatia)

Masyu-Rundweg from Nils Miehe (Rétsel Portal LM Deutschland).
Pentoroll from Riad Khanmagomedov



